BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)

OFFICE OF THE GENERAL MANAGER: W.J.AREA

PO.MOONIDIH: DISTT.DHANBAD (JHARKHAND)

PART - I

(TO BE SUBMITTED IN SEPARATE ENVELOP)

1.	Name of work	:	•	aning, erection & painting of R.G. filter 21 Pits Colliery of Mohuda group, WJA.
2.	Name of contractor	:		
	Address	:		
	Contact No. (Tel. /Mob.)	:		
	3. N.I.T. Reference	:	WJA/MHD/Civ 28/29.01.11	il/Quotation/05/2010-11/332 dt.
4.	Date of Receipt of tender	:	11.02.2011 from	n 10.00 AM. to 3.00 PM.
5.	Date of opening of Tender	:	At 11.00 AM. C	On 14.02.2011
6.	Details of E.M.D.	:	No.	Date
7.	Money receipt No. (For issue of Tender paper)	:	No.	Date

: i) Tender Notice

8. Documents issued to

tenderers

BHARAT COKIN COAL LIMITED (A Subsidiary of Coal India Limited) OFFICE OF THE GENERAL MANAGER,

PO.MOONIDIH: DISTT.DHANBAD (JHARKHAND)

Ref. No. WJA/MHD/CIVIL/QUOTATION/2010-11/332

28/29.01.2011

QUOTATION NOTICE

Sealed quotation on percentage rate above/below on prescribed bill of quantity in two parts (Part-I & II) are invited from the reputed contractors for the following works. The quotation is also available on website http://bccl.cmpdi.co.in and can be downloaded.

The details of work are given below:-

Sl. No.	Name of Work	Estimated Cost	Earnest Money	Time of completion
1	Overhauling, cleaning, erection & painting of R.G. filter plant at Mur.20/21 Pits Colliery of Mohuda group, WJA.	Rs. 98,823.25	1,000/-	One month

Availability of bill of quantities - 02.02.2011 to 09.02.2011

The quotation will be received on 11.02.2011 from 10.00 AM. to 3.00 PM in tender box kept at

- a). C.I.S.F. post, near Koyla Bhawan gate, Koyla Nagar, BCCL, Dhanbad &
- b). C.I.S.F. post, near main gate of W.J.Area, Moonidih
- The tenders received will be opened on 14.02.2011 at 11.00 AM in the Office of the Chief Manager(C)/ACE, WJA, Moonidih.
- 2. ELIGIBILITY CRITERIA:
 - a). The intending tenderer must have in its name as a prime contractor experience of having successfully completed similar works during last 7(seven) years ending last day of month previous to the one in which bid applications are invited (i.e. from 01.12.2003 to 30.11.2010) should be either of the following:-
- Three similar completed works each costing not less than the amount equal to 40% of the estimated cost. (OR)
- Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.
- One similar completed work costing not less than the amount equal to 80% of the estimated cost. **Similar work means**: Repair & maintenance of filtration plant.
 - b). Average annual financial turnover of civil works during the last 3 (three) years, ending 31st March of the previous financial year (i.e. for 2007-08, 2008-09 & 2009-10), should be at least 30% of the estimated cost.
- The bill of quantity can be had from the office of the Chief Manager(C)/ACE, WJA, Moonidih, Dhanbad during the period mentioned above, Part-I shall consist of earnest money, technical bid & criteria. Part-II shall consist of bill of quantity duly filled in for rate, amount etc.
- Earnest Money should be deposited with the Sr. Cashier, Moonidih.
- Authority reserves the right to reject any or all the tender received or split-up the work between two or more tenderer's without assigning any reasons what so ever.
- It will be obligatory for the questioners to keep their offers open for acceptance for a period of 120 days from the date opening of the tender.
- The NIT with general rules & reasons for guidance of the quotations or general, special condition of as accepted from time to time will be part of the contract documents.
- Contractors have to abide by the Labour Regulation Act.
- Tender without earnest money will not be considered.
- 10. Tenderer should also give details of their PAN & Sales tax Registration, No.
- 11. No materials will be issued by the department for this work.
- A). Declaration regarding genuineness of the documents submitted & no relationship in BCCL in original.
- B). Declaration that they have not been banned on de-listed by any Govt. or Quasi Govt. agencies or PSU's.

Copy to:

CHIEF MANAGER(C)/ACE WJA:MOONIDIH

- 1. General Manager, WJA, Moonidih,
- 2. Area Finance Manager, WJA, Moonidih,
- 3. GM(System), BCCL, with a request to display this Quotation Notice in BCCL website. The down loading facility should be available during the period of availability of tender document.
- Project Officer, Moonidih Project, Lohapati, Mur.20/21 Pits Colliery
- CISF post, near Koyla Bhawan gate, Koyla Nagar, Dhanbad,
- CISF post, near main gate, WJA, Moonidih
- Sr. Cashier, WJA, Moonidih,
- 8. Notice Board.

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)

OFFICE OF THE GENERAL MANAGER: W.J.AREA PO.MOONIDIH: DISTT.DHANBAD (JHARKHAND)

PART - II

(TO BE SUBMITTED IN SEPARATE ENVELOP)

1. Name of work Overhauling, cleaning, erenction & painting of R.G.

> filter plant at Mur. 20/21 Pits Colliery of

Mohuda group,

WJA.

2. Name of contractor :

> Address :

3. N.I.T. Reference

28/29.01.11

: WJA/MHD/Civil/Quotation/05/2010-11/332 dt.

4. Date of Receipt of tender : 11.02.2011 from 11.00 AM. to 3.00 PM.

5. Date of opening of part – II : To be communicated later

6. Documents issued to : Bill of quantity

Tenderers

SIGNATURE OF ISSUING OFFICER

BILL OF QUANTITY FOR THE WORK OF OVERHAULING, CLEANING, ERECTION AND PAINTING OF R.G. FILTER PLANT AT MUR.20/21 PITS COLLIERY, MOHUDA GROUP UNDER WJA.

UNDER WJA.										
SI.No.	Description of works	Quantity	Unit	Rate	Amount					
1	Overhauling, cleaning, erection and painting of R.G. filter under drainage system LOH. Register controller. Taking out and changing of filter media including arrangement bye pass for continuous water supply during shut down	1.00	Nos.	21600	21600.00					
2	Supplying filter media				0.00					
а	Gravel	150.00	Nos.	22.00	3300.00					
b	Sand	200.00	Nos.	22.00	4400.00					
3	Under drainage system	1.00	Nos.	10000.00	10000.00					
4	Infection box cover	1.00	Nos.	1000.00	1000.00					
5	Bleaching dozar	1.00	Nos.	5000.00	5000.00					
6	Providing fixing spelendar rod	3.00	Nos.	600.00	1800.00					
7	P/F/F G. I pipe 100mm	6.00	Mtr.	676.65	4059.90					
8	P/F/F 4"dia	10.00	Nos.	300.00	3000.00					
9	P/F/F G.I. band 100mm	2.00	Nos.	800.00	1600.00					
10	P/F/F G.I. 100mm	1.00	Nos.	500.00	500.00					
11	Dismantling sluice valve upto 15mm dia	5.00	Nos.	52.70	263.50					
12	Dismantling sluice valve above 150mm	1.00	Nos.	178.50	178.50					
13	P/F/F G.I. pipe 80mm dia	6.00	Mtr.	458.15	2748.90					
14	P/F/F sluice valve 100mm dia	5.00	Nos.	2550.45	12752.25					
15	P/F/F sluice valve 150mm dia	2.00	Nos.	3889.75	7779.50					
16	P/F/F Sluice valve 250mm dia	1.00	Nos.	10240.90	10240.90					
18	Labour cost for cleaning of settling tank including dewatering	1.00	Nos.	5662.80	5662.80					
19	12mm plaster 1:4 with neat cement punning	30.00	Sqm.	97.90	2937.00					
			Total	- 	98823.25					

CHIEF MANAGER(C)/ACE, WJA